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Complete the colculations.

a) 5::2%-1{“- %-
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One bog of pototoes weighs 1 % kg.

How much do 5 bags of pototoes weigh?

Here is a recipe for a birthday cake.

a) How much flour is needed for 3 birthday cakes?

b) Dora makes 4 birthday cakes.
How much more butter does she use than sugar?
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Complete the calculations. 15 One bog of potatoes weighs 1 % kg. .

2 10 3
“15*23'1“+T'|:| b) 42 %5=20+ ’|:| How much do 5 bags of potatoes weigh?

Here is a recipe for a birthday cake.

a) How much flour is needed for 3 birthday cakes?

b) Dora makes 4 birthday cakes.
How much more butter does she use than sugar?
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